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n Identify each geometric statement which allows you to conclude
that the adjacent triangles ACD and BCD are congruent,
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Congruent triangles

CONSOLIDATION @

a) CD is a median.

b) CD is a bisector of angle ACB.

AACD = ARC
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c) CD is the perpendicular bisector of segment AB. _<HDC £ < BDC  nod

b)
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In the adjacent illustration, AC is a diagonal in the A
parallelogram ABCD. Complete the following proof to
show that ABC and ACD are congruent.

STATEMENT
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A ABC = A ACD

Two triangles that have corresponding congruent sides are
congruent (SSS).
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LBA( = £ACD
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AC &= E—,A-\ o Q('w,u[,‘_ m o e \‘F
A ABC = A ACD| Two triangles that have one congruent angle contained between
corresponding congruent sides are congruent (SAS).
STATEMENT JUSTIFICATION
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A ABC = A ACD

Two triangles that have one congruent side contained between

corresponding congruent angles are congruent (ASA).
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CONSOLIDATION @
Group: Date: :
(cont’d)

B Identify pairs of cohgruent triangles using the triangles below.
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The adjacent illustration depicts a construction
beam used to support a floor. The five straight
pieces of wood are equal in length.
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a) What geometric statement allows you to state that
there are 4 congruent triangles within the beam?

/\/riana\es oot (m(esmnr\(r.ﬁ Canaguen cicdes, are Con&ruwk('

b) What is the length of one of the straight pieces of wood?

Crb=c?

¢ 2Lt + 127 = x z
~ J440 = x*
\*Wuo ErY
2em *23 94333112
\M} Answer: 23,95 c¢m
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H A piece of rectangular paper is folded lengthwise,
along one of its diagonals, as shown in the

adjacent illustration.
10cm

a) Complete the table below to show
that triangles ABR and CDR are congruent.

D 75cm C

STATEMENT JUSTIFICATION
AB = CD 1) Opposite sides of o Roctargle are congruent o e .:{:L
ot e Mer 4
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AABR=ACDR | 5 AsA

b) What is the perimeter of triangle ACR?
Angez AR 12 em

n For the construction of the kite illustrated below, 7 thin pieces of wood and 2 pieces
of fabric were required.

. 7 A=180° . B
a) 1) What is the measure of the angle DFG? 120 ~( 100425) S
Ars:. 55° 55° A 65° ¢
2) On what geometric statement is your -
reasoning based? M N\ag| /48em
The sum of —he ntecoe oo ies  qoFf D
J < J
a_triansle s 1%0°
b) 1) What is the measure of the angle ADB? 70cm /25°[25°
Ans: 25°
2) On what geometric statement is your s E
i ? 55 §65°
reasoning based? | % cm
LADB 0nd € EDE are vertically oopete F
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¢) 1) What type of triangle is BCD? /RI%N Tria nsle_

2) On what geometric statement

. . 2 2
is your reasoning based? Puthagaes: 0 +b*=¢
J Berr st o o

d) What geometric transformation allows you to associate triangles ABD and BCD
as well as triangles DFG and DEF?
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